clear all, close al

% med RK4
tic

[T U = odeRK4(@orenzODE, 0, 25,

toc

% med ode45
tic

odeset (' Rel Tol ', 1e-6);
[0 25], [O, 1, 1], opt);

opt =
[R V] = oded5( @orenzODE

toc

whos

pl ot 3(V(:,1),V(:,2),V(:,3)),

El apsed tine

106174 seconds.

is 3.
El apsed tine is 0.511347 seconds.

Nane Si ze
R 4737x1
T 100001x1
U 100001x3
\% 4737x3
opt 1x1

Byt es

37896
800008
2400024
113688
4056

view([ 20 20])

[0, 1, 1], 100000);

Cl ass Attributes

doubl e
doubl e
doubl e
doubl e
struct




Published with MATLAB® 7.10




	

